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1. IIEH I FETR HuA! GreAladhl HIvET a1 Tefta 787 ?

(1) .4, dh (2) wreu fea®

(3) A S (4) wgreny et

Which leader is rot belong to All India Trade Union Congress ?
(1) N.M. Joshi (2) Lokmanya Tilak
(3) Lala Lajpatrai (4) Mahatma Gandhi

2. ‘wrmanr vgdh wOR a9 g e g 2
3. §d IHFER T aged! Afterrae FAERIEE) F9Ta .
9. wefHies qaiar e Ao g fRted .
F. Heg@rE! AHRN F T gga R .
. YcftoAn AT gumen .
et I
(1) & A (2) FTHAANIT (3) FHFAMMS (4) IS
Which are the two main characteristics of ‘permanent’ settlement ?
a. Totransform all landlord and recovery officers into landlords,

b. To deprive the conventional rights on the land.
c. To fix the structure of the revenue tax collection and recovery system.

d. Toimprove the agricultural techniques.
Answer Options :
(1) Onlya (2) Onlyaandb (3) Onlycandd (4) Onlyd

3. SV FREUHH RATHA HHTR AT HESHR Ar=dr g amref ?

(1) e 3= gfrm afwe, 1926 (2) e o ofwe, 1923

(3) sfemA Faelt ofae, 1922 (4) sfemm Swedt afFe, 1911

By which act legal recognition have been given to Indian Labour Organisation ?
(1) Indian Trade Union Act, 1926 (2) Indian Mines Act, 1923

(3) Indian Factory Act, 1922 (4) Indian Factory Act, 1911

4, YT Utg wsAT 3.9, 1886 1 FoAhl AT A Hiv B ?

(1) ST Hga (2) 3TegA e

(3)  rerd st (4) wgEA FEeh |

Who was the President of Indian National Congress in 1886 held in Calcutta ?
(1) Firozshah Mehta (2) Abdul Aziz

(3) Dadabhai Naoroji (4) Badruddin Tayyabji

Foed] HIRITE! SR / SPACE FOR ROUGH WORK P.T.O.
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5. ST Teme g € v ivh 9 gt T et Bt 2

(1) w3, gM, 1884 (2) TIgMTg TS, 1885

(3) EYArEg S, 1884 (4) @M. TR, 1885

Who and when established Indian National Union Organisation ?

(1) A.O.Hume, 1884 {2) Dadabhai Naoroji, 1885
(3 W.C. Banerjee, 1884 (4) M.G. Ranade, 1885

6. USRI HIESIeh HeAV=AT 87 HIvcan e Tenfia oo gar ?

¥, o sEieEE ¥ SFHT Yiaed et

%. ST |/Ee 3. Y afnfd

qafdt s

(1) %ad 31 afo1 € (2) e 3, § AT H

(3) @, 9, % anivrg (4) HT

Which were the institutions in Maharashtra established for the social welfare ?
a. Bombay Association b.  Deccan Prantastha Mandali
¢.  Prarthana Samaj d. Yugantar Samiti

Answer Options :

(1) Onlyaandb (2) Onlya,bandc

(3) a,b,candd (4) Onlyd

7.  foar wiferd gamvamedt a1 gl warar ae et

3., FOIEIYh qEN - TEEE B
9.  YRd Yo% FY ~ A1 MUTSES TEe
%, efa @y —  fsiue T faem el faga aush R
2 w®mwskemfanr - AmSied
it I
(1) ®FAAMAUS (2) FHRAMIET (3) Had b (4) wHaE
Which of the following ‘Sangha’ was established by whom for upliftment of ‘Dalit’ ?
a. Satyashodhak Samaj - Mahatma Phule
b. Indian Servant Sangha - Hon. Gopalkrishna Gokhale
Dalit Sangh - Depressed Class Mission Maharshi Vitthal
Ramji Shinde
d. Social Service League - N.M. Joshi
Answer Options :
(1) Onlyaande (2) Onlybandd (3) Onlyc (4) Onlyd

TTET HERATS ST { SPACE FOR ROUGH WORK
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8.  WKard fedier=n oo Wl & B B
N, A S arsETEe anfds, uaha 3 asel fiamay s,
§. Wil BTAaTEge ol d He i o,
F.  UNdld STl WIEH el @Y qPTEn,
8. SANREE Jiead i s,

At I

(1) wad A (2) wagd (3) Taad® (4) Faq A It

Which was the aim of the Britishers to establish the Railway in India ?

a. To conserve the Britishers imperialist’s economical, political and military
co-relations.

b. To internal supply and export the goods.
e.  To fulfil the expenditure of British Government in India.

d. To make a capital for trade and business.

Answer Options :
(1) Onlya (2) Onlyb (3) Onlyc (4) Onmnlyaandb

9. Taidie firoft meorer aifers T e v arft st fier o st @
e T9T el ?
{1) 1876 (2) 1880
(3) 1881 (4) 1885

When did the mill owners in Mumbai establish the Bombay Mill Owners Association
after realising the seriousness of the situation ?

(1) 1876 {2) 1880
(3) 1881 (4) 1885
10, Eefe figeaa = e
(1) g HEW (2) . raEH
(3) THEH T (4) foga fi
‘Dinmitra’ was started by
(1) Shahu Maharaj (2) Dr. Ambedkar
(3) Mukundrao Patil {4) Vitthal Shinde

AT FMTATGT ST/ SPACE FOR ROUGH WORK P.T.O.
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11.

grefteryeht e faam gafe o ?

(1) vfgean Hafm ofiT arenrE givon 24 s, 1946 Usft smeft #dl.

(2) 2 3R, 1946 T Age=an Agamare aim g waufad s

(3) 26 sT=iR, 1946 TS Foed I Geeim Siirer SIaim ShRmed T,

(4) wium a9 fedwr, 1946 TS eican wiiewn Sehien geam oin &t Jogdt.

Which one of the following statements is not correct ?

{1) The first Interim national government was announced on August 24, 1946.

(2) On October 2, 1946 the Interim Government headed by Nehru was sworn in.

(3) On October 26, 1946 Wavell brought the Muslim League into the Interim
Government.

(4) The Muslim League did not attend the first meeting of the Constituent
Assembly on December 9, 1946.

12.

TR W T3 qern v ITETdN ot HI0 B 2
(1) i .. e (2) ®ER 9
(3) TR TEE (4) . FyaE

Who headed the fundamental rights sub committee in the Constituent Assembly of
India ?

(1) Dr. B.R. Ambedkar (2) Sardar Patel

(3) Jawaharlal Nehru : (4) J.B. Kripalani

13. -

@Fﬂaﬁmﬁfé?mm:

H. HeUEEEE I A W GSIEd ST Rl TR,

4. giffe v aHY Wiveh JeIuedh SUFTE (ST Twag — 29 F=Y qEw
S IR

. WIS AT B I WINSAT SLEAITETS! HATEeH O 1918l R g,

8. WY A A A ST HAETHA 30§ Wieh Watidl FEEr, 1951 FER W SnEl g
TrEl.

TR horeht faa s o3 2
(1) % 31, ¥ afr & (2) e ¥, & HM T
(3) & A, § M (4) waq A, & M7 8

Consider the following statements :

a. The term ‘minority’ has been defined in the Constitution of India.

b.  Article — 29 grants protection to both religious minorities as well as linguistic
minorities,

c.  Right to conserve the language includes the right to agitate for the protection of
the language.

d. The political promises made for the conservation of the language does not
amount to corrupt practice under the Representation of the People Act, 1951.

Which of the above statements are true ?

(1) Onlya,bandc (2) Onlyb,candd

{(3) Onlya,bandd {4y Onlya,candd

TR STt SIATT / SPACE FOR ROUGH WORK
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14, T THeEN TSAyStdie aTefia dgrar HEg weu 8w W e et a9t fEd qeeen

il wigs ?
(1) FFER T 7Y (2) o foar st o=
(3) AN IE Ty (4) 2/3Ts9

If the parliament want to make a centres law on a matter fall in State List, how
many states have to make request to parliament ?

(1) Minimum one state (2) Two or more states
(3) More than half states (4) 2/3 states

15. WEISush! v HHT<AT Sge Hied IIeeh! e Sl 3 ?
(1) wTeT-THREER 68
2) Tt favas Fa9
(3) TEEhd Hie AT 3 N TeeEy Y=Y
(4) IR FHOITE I

One can file the public interest litigation regarding which one of the following ?
(1) Landlord-Tenant cases

(2) Cases regarding service matter

(3) Admission to Medical College and other educational institutes

(4) None of these

16. Wrefiedshi I g/ siag smed ?
A, WA T oeas — 157 Yeltg ik it qehre s7em SIiTe) Iuesy TR,
q. AN Touee ™ 9g=e - 16 ¥ Fae WY TR 39 3.
®. WY GoweeAd e — 21 R Wity A anfir gkt ddte wdte stet 3uesy
AT,
qiEt Iw

(1) ad 37 (2) $ANINF. (3) TR (4) 3, 9

Which of the following statements is/are correct ?

a. Article — 15 of the Constitution of India is available to both citizens of India
and the foreigners.

b.  Article - 16 of the Constitution of India is available to the citizens of India only.

Article — 21 of the Constitution of India is available to both citizens of India
and the foreigners alike within the territory of India.

(1) Onlya (2) Onlybandc¢ (3) Onlye (4) a,bandc
FHoeq] HNE! AT / SPACE FOR ROUGH WORK ‘ P.T.O.
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17.  TSOT=AT ST GResh awrata s Ao wrsrehn arh et 3.

A ¢ o e el e ome” L e el
7. “onfds gumlte aueae 1. €@ 14
%, g e < Q@ Jvaed @7 II1 %0, iveeR
g Y AT saiatd sl V. dedie arifeed
FHUTHETel U qET
i I ;
<) q * E-A
(1) 11 111 v I
(2) 1 I1 111 v
(3y 1III v I II
4 IV I I1 111

Match the comments and commentators on ‘Directive Principles of State Policy’.
a. “__  they have at least educative L Allen Gledhill
values.”
b. “Socialism in the economic sphere.” II. B.N, Rau
¢. “Aimed at furthering the goals of the IIIl. K M. Panikkar
social revolution

d =~ the affirmative instructions IV, Granville Austin

to the Government to do certain

things
Answer Options:

a b c d
(1) 1II I11 v I
(2) I II H1 v
(3) I v I I
4y IV I I I

Tl HERE! JTT / SPACE FOR ROUGH WORK
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18. @i fqus femm e
7. Ewcls 9rEn s e gl AmiEa vgden e Se amR.

it I ;
(1) faum o s, 9 9% (2) faum &1 9%, 9 SOH
(3) It foemy sl (4) o faum 5

Consider the following statements :
a. The Constitution of India, like that of Canada, has adopted the system of single

citizenship. :

b. The other federal state like Switzerland, adopted the system of double
citizenship.

Answer Options :

(1) Statement a is correct, b is false (2) Statement a is false, b is correct

(3) Both the statements are correct (4) DBoth the statements are false

19. WERI U9 Fasvm st S faur aer sma 2
3. FAENTER WA 1995 96 gied,
q. AGNE @SuTeh ST 8.
®. I i TSy qEeeAT g Hal,

T STENTEAT AYEN] UG TSIUTA HT.

it 3wt :
(1) %, & W0 g (2) %G I, § I &%
(3) ®Fa A, FaNfurs (4) %o 31, % fr 3

Which of the following statements about the Maharashtra State Election
Commission are correct ?

It was established in 1995.

b. It has a constitutional basis.

w

c. It conducts elections to local bodies.

d. The State Election Commissioner is appointed by the Governor.

Answer Options:
(1) Onlyb,candd (2) Onlya,bandc
(3) Onlya,bandd (4) Onlya,candd

FoeT HHANIS! AT / SPACE FOR ROUGH WORK P.T.O.
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20. QAT RV AT FHAT W] EHAT TRATGEET 0 T g ?

3., AWREE

9. A=A i arte aw

F. HagH gu™ TEiEE

5. A

3. omfCamE &A= W

it I

(1) J{,9, &

2 %3

@) ,3,%8

4) A, 49, %, 3

Which of the following matters on which amendment is possible only by the ‘simple

majority’ of the Parliament ?

a. Citizenship

b.  Directive principles of State Policy
c.  Delimitation of constituencies

d. Fundamental Rights

e. Administration of tribal areas
Answer Options:

(1) a,b,c

(2) a,ce

(3) b,d,e

(4) ab,ecd

Foel] HIETSIET AN / SPACE FOR ROUGH WORK
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21. 74 1 HAIGERI Hewid et faum fa=ma =
¥, TRUIRET HiEdt U 98 SR W1 Friwe Tl T antea S| g fEsvE
=t AT,
i Fiord faamA ghEYE TR/ ?
(1) Fare (2) G A (3) wF T (4) HoE T
According to 748 amendent consider the following statements :
a. Nagar Panchayat can be established for areas in transition from a rural area to
urban area. _
b. Fixed tenure of five years for the municipality and re-election within one year
at the of end of the tenure.
Which of the statements given above is/are incorrect ?
(1) aandb (2) Onlya (3) Onlyb (4) None of these
22, TormiHid 3 ol feme u 3w o, wmen
(1) 3= wyferar Yvamg e (2) = wmafieRar guaTg sl AT
(3) vum gal Toar AT (4) et vl T
Employment generation was one of the objectives of economic planning. It was
(1) Accorded a high priority (2) Never accorded a high priority
(3) Given prime status (4) None of the above
23, @ faur femme

o, e Friee 3 e sl i o,
¥ wwdE faem 7 Wi See e
%.  vraE e @ o faee o,
sfieeh! o/l faum/A st amR/aTea 7

1) TR AAMME (2) FHIANFE (3) SR AAOSF (4) dOaTd

Consider the following statements :

a. Indian planning is indicative economic planning.

b. Indian planning is physical planning.

¢. Indian planning is financial planning.

Which of the statement/s given above is/are correct ?

(1) Onlyaandb (2} Onlybandce¢ (3) Onlyaandc (4) Allofthe above

Foedl HHRIATS! SN / SPACE FOR ROUGH WORK P.T.O.
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24,  ®F 2009-10 v UFR® AT weefl (NSS) = 66 = Wqar @ ferdt st
(TaTETfa) e TEE AT W @Telienh e TSI sUeTRET & (S EI) Jaid

et Figfaen e ?

A, T q. TN

F. W TN 3. HEWS

gl I : |
(1) &I A (2) ®Hd & (3) BFAH AME (4) Fad S

According to usual status unemployment (adjusted) as per the NSS 66th — Round
2009-10, in which of the following state/states is the unemployment rate (per 1000}
shown lowest in rural areas ?

a. Gujarat b. Rajasthan

c. Madhya Pradesh d. Maharashtra

Answer Options :

(1) Onlya (2) Onlyb (3) Onlycandd (4) Onlyd

25. @red faue foewa

Ttz Wat o,

T SR T g Ieqd e A9 oht St afed W wieha ggEE Srdl/smrin
Ty fegt Sma.

F. T FEAV Id SRgE W GTefid dEe STt JRid Sae Yod S fea glaw
feeht .

iRt rra/d A st sme/eea 2

(1) SFAAAMIT (2) SFAF MU S (3) HEFI A AV & (4) e w4

Consider the following statements :

a. Integrated rural development programme aims at raising families above the
poverty line by creating sustainable opportunities of self employment.

b.  In Jawahar Gram Samridhi Yojana preference is being given to SC/ST families
below the poverty line and physically challenged persons.

c. Ganga Kalyan Yojana provides irrigation facilities through groundwater
sources to small and marginal farmers below the poverty line.

Which of the statement/s given above is/are correct ?
(1) Onlyaandb (2) Onlybande (3) Onlyaandc (4) Allof the above

FoegT HIATATS! ST / SPACE FOR ROUGH WORK
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26. 733 eV Eeteddl wive faam/faae e amy/agd 2
H. UG ThRA 1993 wed aufivr feehrEeRiar 73 = fofar Seem.
¥, 73 S UIATGERIIEN UETEdl T Fe1 AT hrEtaeHia 19 Romygesiar quEn S
HIeAT.
gyt 3T
(1) %Fa & (2) AAMIIA (3) I F (4) whedH whdl A
In the reference of 73™ constitutional amendment which of the following statement/s
is/are incorrect ?
a. In 1993 Government of India took the decision about 73 constitutional
amendment for rural development.
b. 73" constitutional amendment added 19 more sub;ects/contents in the
functions of Panchayati Raj.
Answer Options:
(1) Onlya (2) Bothaandb (3) Onlyb (4) None of the above
27. e e e
me H o
A, AR ITHH HE HeAl I 3fsd=, 2005
9, Ao fEEe 200 B9t Srd AT IgE SWRAET geaTa I 23 IWe, 2013
%, T el I v gea St IMI. 2 %gar, 2006
3. AR AgE U WEd Jaofientor faemeh geard et IV. 39, 2011
g I
H q & k-
(1) 1 II II1 v
(2) IV III II I
3 I I1 I v
(4) 1II 1AY I I
Match the following :
Group A Group B

a. Aajeevika formally launched

b. MGNREGA initial implementation in selected 200
most backend districts

¢. National urban livelihood mission launched
d. Jawaharlal Nehru National Urban
Renewal Mission launched

Answer Options:

a b c d
(L 1 II II v
2 IV III IT I
(3) III I1 I v
4) 1I v I1I I

I. 3rd December, 2005
II. 23" September, 2013

I1I. 274 February, 2006
Iv. 3 June, 2011

Feeg] PHTATST ST / SPACE FOR ROUGH WORK

P.T.O.
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28,  duaIfis IS TR FUITRE T UeH HEATET THIEGT IR

A, ity s

9. = Eies

%, U faww qitwe

Tt IW

(1) %F A (2) I

(3) a1 afn= (4) == @

Agencies involved in five year plan formulations are :

a.  Niti Aayog

b.  Union Cabinet

¢.  National Development Council

Answer Options :

(1) Onlya (2) aandb

(3) aandc (4) All the three above
29, W fram gy Sad Fioem S 9 = T=EiiNE G it i e weEg

e Iererarta Wi fee grar ?

< S GO

¥, HdRY Y FaT

F.  HEste faam e g

8. WAt e adie

gt I
(1) & it = (2) = anft &
(3) ¥, «for = (4) b 9

The time bound ambitions social objectives indicated under 9% five year plan
emphasized which of the following Basic Minimum Services ?

a. Safe drinking water

b. Tertiary health service

¢.  Streamlining public distribution system

d. Universalisation of secondary education

Answer Options :
(1) aandb (2) bandec
(3) a,bande (4) All the four above

HoEl HHE! SIT / SPACE FOR ROUGH WORK
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30. T 9rme wed glawr gdad (PURA) gfaammed Seoft fomme Suare el
g,
(1) o= (2) Tedfea (8) o= (4) wmifaes
connectivity was not considered in PURA Model.
(1) Physical (2) Digital {3) Economic (4) Social

31. Wrciedht HIoM Iarsal IAnE gfawn e e/ s ¢
3. UHRHGA Wit TaavsH

¥, TN STEA
. Hwae sggd
it IW

(1) % & (2) % A (8) o ¥ T * (4) eI wwdt T
Which of the following explains the feature/s of infrastructural development of
India ?

a. Heavy investment by the government

b. Bias in favour of the poor

¢.  Bias in favour of the rich

Answer Options:
(1) Onlyc (2) Onlya (3) Onlyaandc (4) None of the above

32. Y dRgE aAEEd! Grefte foum fommma e
A, AR tead TS 17 SAed fammet g,
¥, U VAW HEHAE gear 2016 951w,
%, e JEeEEel] warEds A TEmE T faamnft s el e
AT 2012 T HEA,
.  YRA 12 W@ §ct 3MTed.

FhAh Ford foram sTeR 118 ?
(1) % A, 9 AT & (2) w9, % Ifrg
(3) % A, T AMN S (4) %G 3, B AN S

Consider the following statements regarding Indian Transport :

a. The Indian Railway Network is divided into 17 zones.

b. The Setu Bharatam programme was launched in 2016.

¢. The Ministry of shipping was formed in 2012 by bifurcating the erstwhile
ministry of shipping road transport and highways.

d. India has 12 major ports.

Which of the statements given above are correct ?

(1) Onlya,bande (2) Onlyb,candd

(3) Onlya,bandd {4) Onlya,candd

Foeq] HEFATE! STRT / SPACE FOR ROUGH WORK P.T.O.




C12

33.

16 A

NHDP =1 84 3= golie HgEm Sigvasl 3mg, PMGSY 91 999 oo & sngvansft o1 &
PMBJP =! =4 ¥t o118,

(1) TS Hgmwm iy

(2) ik e

(3) el vt HETATIE, Sew

(4) T wEmTl T wEmT Arew

NHDP deals with building high quality highways, PMGSY deals with rural roads
and PMBJP deals with

(1) Construction of state highways

(2) Generic medicine

(3) Liking up highways to rural roads

(4) Linking up state highways to national highways

34.

et foar ferama e .

7. o aw fam A SR gErde S Sergswar sufvn armE gfaomdia awe @ v
Trgfamamrdt I e,

W, o ToE1 200 9T faeEE s g,

%, UF 9n fam Qe @ arE a5 anfir yemrea faee g iEdt ST ¢,
Thetht wIo fqum stee amed ?

(1) % 3 0§ (2) w9 A ®

(3) g 3 M & (4) =l &4

Consider the following statements :

a. Rashtriya Sam Vikas Yojana was introduced to address the problems of low
agricultural productivity and gaps in infrastructure.

b. The scheme covered 200 backward districts.

c¢. Rashtriya Sam Vikas Yojana to support the development initiatives in
backward states and regions.

Which of the statements given above are correct ? _
(1) Onlyaandb (2} Onlybandc
(3) Onlyaandc {4) All of the above

e HHITS! STRT | SPACE FOR ROUGH WORK



A 17 C12

35. e frur faemra =0
¥, AR IgE U wEh guron AfEE 3 S, 2005 @1 gE @R
q.  ftEme IRE wErde T Jaien et T i 2 ¥ o,
F. W IUHASATIT IH FIHA TS 7 @rorft wrfigiia wifdn glew sufer goues awan

Flierdsh! Fo fam sl amgq 2
(1) Wd A 3for & (2) wad F i«
(3) waa w i % (4) =h= ot

Consider the following statements :

a. Jawaharlal Nehru national urban renewal mission has been launched on
3'd December, 2005.

b.  The objective is to focus attention on integrated development of infrastructural
services in the cities covered under the mission.

c.  Under this mission eligible sectors include : Parking lots on PPP basis and
development of heritage areas.

Which of the statements given above are correct ?
(1) Onlyaandc (2) Onlyaandb
(3) Onlybandc (4) All the three mentioned above

36. Wit favm f=moa =
¥, fge I SRR Sa TgeE Fae : 9ged gue o,
§.  sflge WdH STeREEia 33 ey Hedl wrbma fffd o o
F.  TETUIRT 9IS G697 A YA W J9id B THRTCI Afad R STehTeETit

7 S T IR,
e B e SU=t a2
(1) I 3 aToT (2) HEa I AMT &
(3) wod g A & (4) b wd

Consider the following statements :
a. All India Radio’s motto is ‘Bahujan Hitaya : Bahujan Sukhaya’.
b. AIR originates programming in 33 languages.

¢. Itis one of the largest broadcasting organisations in the world in terms of the
number of languages of broadcast.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlyaandc
(3) Onlybandc (4) All of the above

FroeqT HETATS! ST / SPACE FOR ROUGH WORK P.T.O.
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37. wreha faum femmm =
¥, TN S D0 2002 AR T v Seie e g e o,
¥, refear geHeTeT B Y WT SUETd TR 37T,
%, T gEEET ITRAES) faed, fom i sewume @ WAl @il &

TERARTIEN &l Snaa 3da faet amg.
FOAYHR BIvA forerm st amee 2
(1) %oa A 3o (2) Had & 7M1 *
(3) e H T (4) fod fom sie e

Consider the following statements :
a. National water policy 2002 lays greater emphasis on environmental concerns.
b. It stresses the involvement and participation of beneficiaries.

c. It encourages private sector participation in the planning, development and
management of water resource projects.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc (4) All the three are correct statements

38, wrie four faema =n
. 1982 el UH U TORS V[ qav A 3.
9. gl e ufgen FEm FY 23 F.
®, 26W, 2015 Ut vagur ot iz W = .2, fFmm @ e A9a gE o

iR I frar SO=t R ?
(1) ®od H T § (2) wad 9§ AT &
(3) Ed A M & (4) 09 wd

Consider the following statements :
a. In 1982, Doordarshan as a National Broadcaster came into existence.
b.  Krishi Darshan was the first programme telecast on Doordarshan.

C. Prime Minister Shri Narendra Modi launched a television channel DD Kisan
on 26 May, 2015.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandec
(3) Onlyaandc (4) All of the above

SHoEd] BRI ST / SPACE FOR ROUGH WORK
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39, @reitd faue fomme =

A, 2005 TS UG QR MG Fafor Tiamen weeg SR gE Sl
¥, g Fmin sl st aiv g geE gl 20 snfir vl g glan s

2 ER.

F. 2005 - 06d 2008 — 09 T FHEdid wia fafor wriswar=a gfgesn v saeesmEstt
Fedl Bt

it o faum S0 Rd ?

(1) %o 7 i §
(2) ad ¥ I+
(3) WEd 3T M F

(4) aba wd

Consider the following statements :

a. The Government of India launched a time bound programme namely ‘Bharat

Nirman’ in 2005.

b. The objectives of Bharat Nirman programme the are to build urban

infrastructure and provide basic amenities in rural areas.

¢. Phase I of the Bharat Nirman programme was implemented in the period
2005 — 06 to 2008 - 09.

Which of the statements given above are correct ?
(1) Onlyaandb
(2) Onlybandc
(3) Onlyaandec

(4) All of the above

Toe] HIRTHTE! SR / SPACE FOR ROUGH WORK P.T.O.
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40. Sl FEem foaues aF |fien it &= ST Y JiA1 A e e,

¥ (5 FHe) 7 (9T F5)
. RAE FHAt qaegor |ftdt I 1983
. 399 ORw gtufy I. 1979
®. Sl i v s III. 1974
T A fave 9o ogs IV. 1965
qafdt I ;

A dq & g
1 I IT 111 v
(2) TII I IV 1l
(3) IV I11 I I

4) 1II v I I

Match the following pairs regarding expert bodies on energy planning and their year

of establishment.

A (Expert Commitiees) B (Estd. year)
a. Energy Survey of India Committee I. 1983
b.  Fuel Policy Committee II. 1979
¢.  Working Group on Energy Policy II1. 1974
d. Advisory Board on Energy IV. 1965
Answer Options :

a b c d
(1) 1 II 111 v
(2) III I v I
3 IV I1I II |
4) 1I v I II1

FHTET BHTHTS! ST / SPACE FOR ROUGH WORK
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F%q 9 G HOA IERd q@ieeht Hiow Wi wet ?

1) . A @ (2) sEfHEE e

(3) 3. @ TREH (4) 3. faom Fet

Which of the following committee recommended Goods and Services Tax ?
(1) Dr.Y.V. Reddy (2) Asimdas Gupta

(3) Dr. C. Rangrajan (4) Dr. Vijay Kelkar

42,

Ifieh AR FeeAe THale B I Heifta 3R ?
. IR 9 ARESHE gus FR (MAT)
¥, HE AYRET GEEgH TR (GATS)

%, difgH gagmaHiET =MIR FW (TRIPS)

g efifawas dguet I (WTO Agreement on Agriculture)
gt I

(1) wad 31 3 9 (2) ®F & M0
(3) W A, 1 FH (4) =< wd
Which of the following agreements is related to World Trade Organisation ?
a. Multilateral Agreements on Trade and Goods

b. General Agreement on Trade in Services

c. Trade Related Aspects of Intellectual Property Rights

d. WTO Agreement on Agriculture

Answer Options :

(1) Onlyaandb (2) Onlycandd
(3) Onlya,bandc (4) All of the above

43.

WA wi/d faumA stet s/ 7
3. OIS AR HHH! THAT 1 THERT, 1995 s A 3.

9. STide SR HueaE gy s ndie s 39 o,

et} 391
(1) wad A . (2) wHq
(3) M g A (4) olieddh T A

Which of the following is/are correct statement/s ?

a. World Trade Organisation was established on 1%* January, 1995.

b. The headquarter of World Trade Organisation is at Geneva, Switzerland.
Answer Options :

(1) Onlya {2) Onlyb

(3) Bothaandb ' (4) None of the above

FoqT BEIS! ST / SPACE FOR ROUGH WORK P.T.O.
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44. Wil S AT AR e (WTO) F R g 2

(1) U3, 2) foma

(3) fom 4) w0 @d

Which of the following is WTO agreement ?

(1) AOI (2) TRICs

(3) TRIMs (4) All of the above

45. T nfds g St Geer géiedeht wvar age TR e ?

A, o

. fua aifera

%. fafaarg

T SR HEEE YA

gl 39 :

(1) ud & M7 § (2) W 3T
(3) wud 31 nfor % (4) %Fd § M E

Which of the following is/are unfavourable effect on agriculture of New Economic
Policy ?

a. Reasonable Price

b.  Price Instability

¢. Increasein Export

d. Entry of Multi-National Corporations

Answer Options :
(1) Onlyaandb (2) Onlyeandd
(3) Onlyaandc (4)° Onlybandd

46. I F Ha1 F (GST) Haferq wewgeed! Frdt ?
(1) 98t wEAgEdt | (2) 99t TegEEdt
(3) 1006 TEATGREd (4) 1073 wEATgEEh
Which of the Constitutional Amendment is related to Goods and Services Tax ?
(1) 98 Constitutional Amendment (2) 99th Constitutional Amendment

(3) 100" Constitutional Amendment (4) 101% Constitutional Amendment

THo] HHAIS AT / SPACE FOR ROUGH WORK
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47, HIEHAIATAT ¥ HEM-ETAAE (et HeEr gHEy ghr 2

. TEGE SAOR ¥, dEge

&%, 3. TAdUE 39

et I ¢ .

(1) aa A, & 3T & (2) ®Fa A, Hanfr g
(3) wHIE, F NS (4) «fawd

Which of the following are included in the invisible Import-Export of Balance of
Payments ?

a. Trade of Goods b. Transportation

¢. Insurance d. Investment Income
Answer Options :

{1} Onlya,bandc {2) Onlya,candd

(3) Onlyb,candd (4) All of the above

48. 1990 - 911 2008 — 09 A1 FHBTT TRATT SATIR A= YFelt et Fwelt 2

(1) wedt (2) st

(3) f&r (4) =tk uREl T

What was the trend of balance of deficit of India during 1990 — 91 to 2008 — 09 ?
(1) Declining (2) Increasing

(3) Stable (4) None of the above

49, SfaS sa=a1 Gevia Ty faue fee.
A, wAviiae Sl T 1944 T Hich.

¥, Srifow ded B IH, 1946 7 GE T4,

Whﬂ'??ﬁ:
(1) ®F A (2) wFd 9
(3) @1 oI & BT (4) = wHdl T

Select the correct statement in the contekt of the World Bank
a. World Bank was established in 1944,
b. World Bank started functioning from June, 1946.

Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above

FoHT SHETHIST SIF / SPACE FOR ROUGH WORK P.T.O.
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50, SRTE IR GRU UF AR G S $1, SIWEd ST I A aier JEms
(1) 2ft ATET= Ieare ST feElt T IeTe A 9 el Sl
(2) 2t areTe Ieaned anfir st AT IeAeT A g Hen I A
(3) =AM 3for IEPTET foet AT WewTE <t ST S .
(4) afcTdht TR ATE

An outward oriented trade strategy is one in which trade and industrial

policies .

(1) Discriminate between production for the domestic goods and foreign goods.

(2) Do not discriminate between production for the domestic goods and foreign
goods.

(3) Trade and industrial incentives are in favour of domestic market.

{4) None of the above

51. el fqum foama e
A, s At Frefl A wgE g faR e s,
g, e snawsE A (R 200 ¥ gwEg onR.
®. AU A Fft gamEe 2 SeRen sadERaedie (BOP) diggmndt it 2,

FieE wiv faum sOsK 3Ea ?

qard} 3w

(1) waa 31 afor & (2) ed § AT F
(3) ad A AN F (4) a0 wd

Consider the following statements :

a. The international Monetary Fund is a Specialized institution of the United
Nations.

b.  The IMF Currently has 200 members countries.

¢.  The IMF provide funds to a member country experiencing temporary Balance
of Payment (BOP) deficits.

Which of the statements given above are correct ?

Answer Options :
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc (4) All of the above

o1 HETHIS! ST / SPACE FOR ROUGH WORK
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52.  YEIeTdeh) s HIAgR WRA™ YThig Wigad Ad ?
A,
. WET
%. T A9
qaidt I
(1) & A U« (2) W 3 3T F
(3) e 9 3T & (4) Fh@wd
From which of the following sources, Foreign Capital comes in India ?
a. Donations
b.  Foreign Loans
c.  Foreign Investment

Answer Options:
(1) Onlyaandb (2) Onlysaandec
(3) Onlybandec (4) All of the above

53, R refeuaEear Hivcar BFWER 2011 - 129 2013 -~ 14 I FiSMA GEATTAA ¢ farstt

Tqavh Hald I et ?
(1) STeebm (2) @a1 &
(3) T HHRAIR (4) F=t

Which sector of Indian economy has attracted highest FDI equity during
2011-12t02013~-147

(1) Construction (2) Service Sector

(3) Computer Software (4) Power

B4, SARAIA Heheo-uEHTa A fagT e
3. P AN qur=n AT At ymor S e

3. wiopd SSwdemed Taren Fatdtar sy 9 3.

Tatft I ;
(1) e (2) ®HEd
(3) ¥anfer 3 A= (4) OatH Tl Tl

Identify the correct statement in the context of Balance of Trade.

a. In Favourable Balance of Trade, the ratio of export is higher than the ratio of
import of a country.

b. In Unfavourable Balance of Trade, the ratio of import is higher than the ratio

of export of a country.
Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above

FHoeT FHTEIS! SR / SPACE FOR ROUGH WORK P.T.O.
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55. 19927 2013 I S Hrawd v Iz faesht ToavE @ e s 9T faRef aaven

@

(1) wedt 2) fas

3 fEr (4) b e T

FDI inflow of India was than FDI outflow during 1992 to 2013.
(1) Declining (2) Greater

(3) Stable (4) None of the above

56,  qeideht Ing faem fae,
o, =En wE vt Ao diaoss T i @1 2015 @ 2020 96N Ry @R gie

FTER FA,

. fiafa sieaeaEEdl ‘Make in India’, ‘Digital India’, ‘Skill India’ I W 2/, & a1
YRS SYE I AR,

qaidt I W ¢

(1) & A (2) wEFd d

(3) 31 anftr 5 S (4) ¥R el T

Identify the correct statement from the following,

a. Commerce Minister Mrs. Nirmala Sitharaman announced the Foreign Trade
Policy of India for the period of 2015 to 2020.

b. The main objective of this policy is to focus on ‘Make in India’, ‘Digital India’,
‘Skill India’ for export promotion,

Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above

57.  snawr Ao i e gl Fioen AR e e ?
3. fafma o fer e e w0,
. wgvafia SANNE e .

it I

(1) e 31 FMT (2) & 0 &

(3) wad o M & (4) =fawd

For which of the following objectives was the International Monetary Fund
established ?

a. To reduce prevailing exchange controls.

b. To attempt for stability in exchange rates.

¢c. Toreduce multilateral trade.

Answer Options ;

(1) Onlyaandb (2) Onlybandec
(3) Onlyaandc {4) All of the above

WOEYT BTG SIRTT / SPACE FOR ROUGH WORK
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58.  TwhI AR YR 2009 — 14 wEfiE @i R femmoa =
. TEHREEl el GRoe Siie @ 2020 W v it sammrfer i gore
F AR,
q. T SR 9RO 50 T SIS Ay 98 Sheid STRuS Aeid el
F. WA 9 Fafa deae dee feder 2012 Ao Sk e,
Fhethl w fay@ T 3R ?
it I
(1) & A AT
(2) WEd A AT H
(3) wEaw A=
4) A
Consider the following statements regarding Foreign Trade Policy 2009 — 14 :
a. The long-term policy objectives for the government is to double India’s share in
global trade by 2020.
b. Foreign Trade Policy has added 50 new markets to the focus Market Scheme.
Government has announced incremental export incentivisation scheme on
December 2012.
Which of the statements given above are correct ?
Answer Options :
(1) Onlyaandb
(2) Onlyaande
(3) Onlybandc
{4)  All of the above
59. WAIAIH B < A [OPEC] 1 dxedst Y9mes 187 ?

(1) arwmfyeem

(2) sSffin |

3) T

(4) wFd e

Which of the following country is not the member of OPEC organisation ?
(1) Afghanistan

{2) Indonesia

(3) Iran

(4) Saudi Arabia

o] HITHIS! RN { SPACE FOR ROUGH WORK P.T.O.
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60. T~ TR WIE H HEHS 69 Hivrd ?
(1) aifirsa & anfty sefis wegd
(2) UZi% Yok Infoy Figoft &
(3) Wl M ! grialid Tsd IoIe Yok
(4) = wd
What are principle sources of tax revenue of the State Government ?
(1) Colmmercial taxes and land revenue
(2) Stamp duties and registration fees

(3) State excise duties on alchohol and other narcotics
(4) Allof the above

61. QIS IUT HE THR HIVEAY AR/ 79 ST ;

¥w. Jafrae gt R s

F. UEHES W R
At I

(1) %od 3T A & (2) wad &AM 3
(3) W A (4) Wad A I &

Identify, which of the following is/are the types of Income Tax ?
a. Personal Income Tax b. Wealth Tax

¢.  Corporation Tax d. Interest Tax
Answer Options :

(1) Onlyaandb (2) Onlycandd
(3) Onlya (4) Onlyaande

62. 1991 =1 F GUWT FiG aTeqer ST 8id ?

(1) T o, =fern (2) A fooa e

(3) . wAH. 4) oA . mfeTE
Who was the Chairman of Tax Reform Committee 1991 ?

(1) Raja J. Chelliah (2) Shri Vijay Kelkar
(3) ShriLK. Jha (4) Shri M. Govindrao

FTe1 HHRATS! AT | SPACE FOR ROUGH WORK
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63. g TN T UTHUSY HRTEAT Hocqagii= SqawATT HIHET ol 91d ?

(1) WG qawuH (2) S aredaEeE

(3) Tigred ¥ wirw $fean (4) uHg

From whom the management of Public Debt of Union Government and State
Governments is done ?

(1) Prime Minister of India (2) Union Finance Ministry
(3) Reserve Bank of India (4) The Parliament

64. At maEtred gdiesh SHemEr THEY 2Rl 2

A IR oE ¥, gl 9 aMEs T

%, onfdE ¥ 3. W @Y

gt 3w :

(1) wFa ¥ I« (2) wF A A H

(3) waa o, 9 Infur 8 (4) wed 3, q MM H

Which of the following are Included in Civil Expenditure ?

a. General Services b.  Social and Community Services
¢.  Economic Services ' d. Expenditure on Defence

Answer Options :
(1) Onlyaandb (2) Onlyaandc
(3) Onlya,bandd (4) Onlya,bandc

65. U yhrdt IgHa WEd WEIAE o T A 2
(1) g, g AT Arefwlen IupaT= IEAETd
(2) g, T Atior e seepriEl e
(3) g T TsT T Il
(4) e 9 yhrE! IgTar
What type of borrowings are considered as Public debt in India ?
{1} Central, State and borrowings of public enterprise
(2) Central, State and Local Government borrowings
(3) Central and State Government borrowings

(4) All above borrowings

PP BRI ST / SPACE FOR ROUGH WORK | P.T.O
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66. 1991 ued ¥l Hva anelemn e guwon whRRe qun anfiE wdafaliat =l
HHE R,

(1) =FTTH gan

(2) Gmfes-sufdE gaTE
(3) sqaETTEh dieTET e
(4) T s TE

The process undertaken in 1991 of economic reforms consists macroeconomic
stabilization and .
(1) Structural reforms

(2) Socio-economic restructure

(3) Adoption of pro-business policies

(4) Human development restructure

67. TwadtSh wfmmm s A et snfer smfee e N AT e
el

(1) WEFEH &7 G §AE @ad H
(2) % Rt qoauERien Srem

(8) e ywmmR TRt S

(4) T3 A TETTR FHEISH

LPG Model has followed the IMF-World Bank prescription of
(1) Opening of public sector to private sector

(2) Facilitation to direct foreign investment

(3) Encourage to more export

{4) Stabilisation and structural adjustment

FTT FIFTATEL I / SPACE FOR ROUGH WORK



68, A g fage.
HIcTH 37

¥, TIeehie EeTEs
%, R ST

it SW

H q9
(1) 1 II
(2) 1II I
(3) III I
4) II ITI

Select correct pairs.
Column A

a. Balanced Budget

b.  Surplus Budget

¢.  Deficit Budget

Answer Options :

a b
1) 1 I
(2 1II I
3) 1III I
4) 1II 11

III
III
II

IL.

III.

III
IT1
II

31 ' c12

HlcTH §
I O Tt < ar @
II. SR W=t = TR @
1. SR ATt > Jihi @

Column B
Government Receipts < Government Expenditure
Government Receipts = Government Expenditure

Government Receipts > Government Expenditure

69. WHAIY 397 A WEY HH g ?

(1) YvEg
(3) wfemft

(2) g
(4) alicrieh! uhdt A1

What is the nature of Income Tax in India ?

(1) Proportional
(3) Regressive

(2) Progressive
(4) None of the above

Toeq] HITS! SR / SPACE FOR ROUGH WORK P.T.O.
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70, Qe RBum e

., FeEatdd # € sgelE W Mt O Igdh AR,

¥, ApAaida W E T R Ml SO Igdt TR,

F.  ogatdd HUSA ARASIEv G T efenrean TeviinEE a1e w i EERERa a6
e

et S faum s e ?

gt I

(1) wd o il §

(2) ¥ I

(3) W A M %

(4) wOa a4

Consider the following statements :

a. The Value Added Tax (VAT) is Multipoint Tax Collection Method.

b.  Non-VAT is Single Point Tax Collection Method.

¢. Implementation of VAT will improve the purchasing capacity and living

standard of the poor people.
Which of the statements given above are correct ?
Answer Options :
(1) Onlyaandb
(2) Onlybandc
(3) Onlyaandc

(4) All of the above

o] PHTEIST SR / SPACE FOR ROUGH WORK
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71. wreld fue e

#.  TSIIAS Fm 280 Hafa fam rair=h wmqun shedl 378,
d.  USgueI=al HaN 275 THR TSA1 Agdioan TWATaR 37gH feeft smara.

F. TsqUeTl Held 282 TIR Usd GEHRAT SR Wl ITewE F @K w57
I13eH faeh s

) FAY A T/ ST ST/ ?

it Im

(1) wad & anfor &

(2) ET S A F

(3) wFd

(4) BFE &

Consider the following statements :

a. The Finance Commission is appointed under Article 280 of the Constitution.

b.  Article 275 of the Constitution provides for grants-in aid to the states in need of

assistance.

¢.  Under Article 282 provides for grants by the Union Government to the State
Governments for any private purpose.

Which of the statement/s given above is/are incorrect ?
Answer Options:

(1) Onlyaandb

(2) Onlybande

(3) Onlyb

(4) Onlyc

Foe] FHIHTATS! SR / SPACE FOR ROUGH WORK P.T.O.



C12 34 A

72, QR fum faame =

H. ARG 2004 F, AR AT i fraweiiores, mﬁ%wﬁam%%mwgawﬁa
T T TAAUE 100% T et aehr war Bef.

9. WFEd 2004 T8, WivEH ST TR Towd TEEus WEE 100% A aei
grgfact.

%. YaOE d FeAE 3-SR ITHEERE WhH YW qauE 80% HUAEE Wart
faeht.

it v/l foram/A stisT smme/arad ?

ot I

(1) HR A (2) R 3 TN 7

(3) wad A Ifur % (4) waq ¥ 0T %

Consider the following statements :

a. In January 2004, the Government allowed FDI upto 100 percent in Printing
Scientific and Technical Magazines, Periodicals and Journals.

b. In January 2004, the Government raised ¥FDI Limit to 100 percent in
Petroleum Sectors.

c.  80% present FDI permitted for business to business e-commerce.
Which of the statement/s given above is/are correct ?

Answer Options :

(1} Only a (2) Onlyaandb
(3) Onlyaandec (4) Onlybande
73. foftage =7

(1) HAETITRT G + THTH qTAR Fl
(2) TR TR F1 + THIG Far
(3) HASHIUFHIT G + AHTET ¢l

(4) IEEUAHE [T + TWHH! TR Ff F SIA

Fiscal Deficit = ?

(1) Budget Deficit + Government’s Market Borrowings

(2) Government’s Market Borrowings + Government’s Liabilities

(3) Budget Deficit + Government’s Liabilities

(4) Budget Deficit + Government’s Market Borrowings and Liabilities

FHoegT HFTATS! ST / SPACE FOR ROUGH WORK
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74, T foun fammm =
H, TSI USIehiuig SgaerArd fered o A1t sfem wgware st ar wr=d.
q., TSI ST e TG AER AT AE i [Eeg s A6 sfed +ld.
. TR 9% 1% g auiqy 9r 3@ Uy faq afaErE aw gas A eaemn aEika
EIG)

A HIvd foa™ s 3med ?

gt I
(1) $&a & anfor g (2) HEa & A0 H
(3) Fed 3 TOT (4) afa @

Consider the following statements :

a. The Reserve Bank of India plays a vital role in the Fiscal Management of the
States.

b.  The Important function of RBl is to help the States to raise market loans.

c¢. The RBI has been organizing the state finance secretaries forum four times a
year at its headquarters in Mumbai.

Which of the statements given above are correct ?

Answer Options :

(1) Onlyaandb (2) Onlybande
(3) Onlyaandec (4) All of the above

75. TEYEH H A YAt FHET WGV 7 g7 ?

H.  AYIY B q. TEE W

F.  TqAUEhEe ST . SIS I
i I ;

(1) wad & e g (2) HEad I AN F
(3) WA ag (4) wad F 3T 8

Which of the following are not included in Revenue Tax Income ?

a. Indirect Tax b. Direct Tax

¢. Interest on Investment d. Punitive Income
Answer Options :

(1) Onlyaandb (2) Onlyaandec

(3) Onlybandd (4) Onlycandd
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76. Yerd Tl QU ‘ran’ @ fqgea #U ¢

3.  ‘quata pol ran’# ‘I can rest here’ ¥ Sfd&am TR,

¥. ‘pol ran sak no’ 2 ‘I can sit there’ = W& TR,

Tiie wlhaar deula Jr vty fas.

Tardt I

(1) fowieham@rd wea wrfedt a1 guht a7mg.

(2) T ardt wad mifed) & gaft a2,

(3) ToreraamEdl mifedt =1 onfir & giEht o,

(4) foepa@E@l Afedt o1 Snfor & gieft .

Decode ‘ran’ using the following data :

a. ‘[ canrest here’ is represented as ‘qua ta pol ran’.

b. ‘I can sit there’ is represented as ‘pol ran sak no’.

Select the appropriate correct option with respect to above process.

Answer Options:

(1) Information a alone is sufficient for decoding.

(2) Information b alone is sufficient for decoding.

(3) Information a and b is necessary for decoding.

(4) Information a and b is not sufficient for decoding.
77. o SRERd ST FHF SRR HUE STRY UHHHE 379N i 39 med, = wad 78

TR @8 AR q9e 1 o 3 A1 f st wad g8 wwerr wAiR e R
TERTA] AN BORE TRd. S SRET 1 9% 9EI STt R geemft 45 swmen b
AT W AE 3 T quetae grom=a fhomsar 9= sfaa avi somn gafg feern

(1) IRE 1 T GE0T=A1 A9 FeRtomen & .

(2) SIRE 1 =X GEUT=AT ATAR foRTomren TR,

(3) SARET 1 9 YET=T STt feRvomeft 45 st M.

(4) IRET 1 gEur= vt feromsft 60 sTEw=n . ,

Reflecting surfaces of three plane mirrors having square shape and identical sizes
placed perpendicular to each other, in such a way that mirror 1 and 3 are having
reflecting surfaces parallel to each other also exactly face each other. If a ray of light
is falling on mirror 1 at an angle 45 degrees then select the option that appropriately
describes direction of the ray coming out after reflection from mirror 3.

(1) Perpendicular to the incidental ray that falls on the mirror 1.

(2) Parallel to the incidental ray that falls on the mirror 1.

(3) 45 degrees angle to the incidental ray that falls on the mirror 1.

(4) 60 degree angle to the incidental ray that falls on the mirror 1.

FeedT FHTEISE SN / SPACE FOR ROUGH WORK



A 37 C12

78. Teoem giramerdia ok Feda® g N Haid Aaed ~ATERET 9w ST S e

w girarg fraer,

R Tt St Wt T el TR el @ uTE P | g, SR Sordier e

R W A @Y €. AT GY FelEHE Wa: gy @ ft gh5a FA wvE ® i

HEHRAT AT,

(1) N A I 98 FW HAF ® M aAfes T fesas. quft st f o Fefrmmas
9= reEer W At AN, B AW A dviear TENen deEe e e IR,
TR T learEHad SHuATETet ft A ol .

(2) R @ TR A W A Hiwe T gEe FgEer A A, aunfy s # st W @
d W Tt e HE MU AR S T A WP W A ) A W AT aes
SERTEN YoidiEd MM e TG @ AT, e i a1 7 S0 A 3.

(3) W R et f =t Arpevn vaew @ ff WdER 9F 4. 901 WY Rk IrEeft @
e EA TG 3 feE s e, @ ol wRarandt @ @0l 36 FAEn REer
B g R = wgn I ehemEd 9 aaen AEl @ Hel UvEEY FlE |0
B[ 1 STBaSIde e IR feaw frhavar 954,

(4) WA A Fw fnr zhin @l W f A B, wg it b il amsehm
Greet AR T AT I ASvEE TS AL M g qievaE AT Fess Fm
AR, FRuE At @ e MM STFEHM WU 37E.

Study carefully reasoning of the argument given and select one from the options
arguments that uses closely parallel reasoning.

If T cook some special dish for dinner, my family members will be pleased. If I go for
the beach stroll I will be relaxed and pleasant. Today I prefer a pleasant me to
pleasant family members so I will go for the beach stroll.

(1) IfIdo overtime today I will earn more money. However if I spend time with my
family I will get relaxed. I need to get relaxed today than I need more money.
Therefore today I will go home to be with my family.

(2) IfIgo out now I will enjoy cool and pleasant breeze. However, if I go out, I will
not clean my house, and if I do not clean my house I will have to live with dusty
and unhealthy environment to which I am allergic. Therefore I had better not
go out.

(3) IfI give tuitions every day at home I will be able to buy a smartphone. But if I
read books in the evening it will add to my knowledge and development. Right
now it is more important for me to earn my own money, but I will regret it if
did not invest time for personal development. Therefore I will give tuitions only
on four days in a week.

(4) I will eat that cake and ice cream to feel elated. But if I do not eat that cake
and ice cream I don’t need to burn calories. I don’t care about gaining weight
anymore, So I am going to eat that cake and ice cream.
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79. UH NOft ST FEOnd Ae FAE g9 Afed @ Wewd qw a7 EEa g
THAT e W, TR AR SO SaEd O ede e JOE gegge, o
YR ®Fd THY TI9d ARl IS T T HFa TRieuda ang wfg ol g aftee
(1) 8 (2) 5 3) 4 4y 3
In a certain species of animal newborn female attains adulthood when it is two
months old and after this on an average gives birth to one new female infant after
every two months for five years in favourable conditions. If there is only one infant
female in the group as its mother, only adult female in the group, died accidently
after completing one month’s weaning period, select total number of females in the
group immediately after completion eight months in favourable condition.

(1) 8 2) 5 3) 4 4 3

80, 3l ®E AT U @9 w6 qOR FUG A HET 9ig O] TeedTaRia g
AEH TSTIAG Sl Sacadt foaue g, @Y argan wE foadesr Fit s
TRl RETe saEe TEdia T @ Slea Jaaehen (e @R &6 § 398 IR,
afe gftrarerdier Jfe eefavm Tata 4 faum Rae
(1) witwee foFve=n dsiadamTa TR F=T=d .

() AT ST EE Sgel Al IS SRR ST STEE.
(3) Toverr w4 e Sl e wom g s@ed 3 A,
(4) fFoaveh diiaa @ 99EaET Aeen A W4 §9Y wE e,

Some recent films have been very expensive to make, but have not been the big
box-office hits that would have justified the expense. Also there are films made very
cheaply that have been received with both huge critical and popular acclaim. Indeed,
some directors who have made successful low-budget films have gone on the make
unsuccessful but expensive films. It is obvious then that if directors want to make
popular films, they should stick to low budgets.

Select the best statement of the flaw from following with respect to above argument.
(1) Critics are often wrong in their predictions about the popularity of films.

(2) The cost of making a film is normally greater than its original budget.

(3) The cost of a film need not be the factor that determines its popularity.

(4) The popularity of a film would justify a high level of expense in making it.
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8l. W ‘F@t fnly =u<hl g wivfif wia e . R foum <& o @t gdie faumid
HIR G Ged=n g & T ?
(1) ek = aresa gdow yrba foeram.
(2) e =k, a1 weia faekara, =n fakr awam,
(3) W& w1, s wrifa foekama, o fnds T@am.
(4) UHE =ht off Td forea ot Py T

If the statement, ‘none but some brave win the race' is false then which of the
following statements can claim to be true ?

(1) All but brave persons win the race.

(2) Some persons who win the race are brave.

(3) Some persons who win the race are not brave.

(4) No person who wins the race is brave.

82.  wfw, om, TR, diew Inft afiw Imed yfawr I e shHiehTR IR oTfiT Wiew @1 wdtd
3T ARFIET I AR, AT FHEHEL AR, (IH) T T I FAE IN FoIE geanh
I IS ?

3, gai I A I oA A9 g A HHIRH Hiegae a 3TR.

g,  TUES § AIEHUET 39 AR Wy VAR g IR

%. g% gai ge .

T ST UATETE AfEet et 1 o | v e

it Iue

(1) SFd«

(2) FQ I MU«

(3) e & fehen o anfor = S g

(4) o AT H

Among, Pravin, Ajay, Rahul, Socham and Tanish, Pravin is second tallest and Soham

is immediate taller than the shortest. Who among them is in the middle when they

stand in the order of their height ?

a. Ajay ranks third in height above Soham when all are standing in the order of
height.

b.  Rahul is taller than Soham but shorter then Pravin.

¢.  Tanish is not the shortest.

Select option that is sufficient to answer question.

Answer Options :

(1) Onlyb

(2) Onlyaandb

(3) Either b only or a and ¢ both together

(4) Onlybandc
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83. A, B,C,D 3 E 2 U™ €ag e We Wedn. 1 g, feee, Fagd onfor @i 9w
W Woadid. A 9 Qo Wbl 9T gishl Wesd ATE). B Mt E i @ W qu wagl Woad
TE. C ftr D 9o ©@edn. C gH @e Waa! 9o ke 9 @l-@! @ad TE. D e @a
Wad! 9o Wi-@l Wesd e C M1 D 90 Wes Ad Wesd AR,

A 1foT B G20 38 FHH W HIv ?

(1) e, gH

(2) e, Fadl

(3) ¥ihI, @@

(4) fode, @@t

A, B, C, D and E are five players playing different games. They play 4 games —
hockey, cricket, kabaddi, and Kho-Kho. A plays three games but not hockey. B and E
play three games but not Kabaddi. C and D play Kabaddi. C plays two games but not

cricket and Kho-Kho. D plays two games but not Kho-Kho. C and D do not play same
pair of games.

Which are the common games played by A and B ?
(1) Kabaddi, Hockey
(2) Cricket, Kabaddi
(3) Hockey, Kho-Kho
(4) Cricket, Kho-Kho

84. fiwrefia %o weh e =R fim T <3 onga. WS 12 T Hd §9g f1@ amRa, T 21
I T =g s TRa, Tk 20 TG T =g A ARG A0 AHH 19 T T4 dg
amed. R foredt g a2

1) 26 (2) 24
(3) 38 (4) 172
In a bag there are single colour balls with four different colours only. Excluding
exactly 12 all balls are blue, excluding exactly 21 balls all are yellow, excluding
exactly 20 balls all are red, and excluding exactly 19 balls all are green. How many

balls are there in this bag ?
(1) 26 (2) 24
(3) 38 4 72

FroedT FHIETHIS! ST / SPACE FOR ROUGH WORK



A 41 C12

85. uuRH wmavfidfia faeneaten TR wUED 62 MR, IFEH U W HW=N 20% Framet
ToEt 89 Iy Famht U W s 25% fEmeatdt guad 36 IR, Ielewr Aued
TFhaTten farmeatsan Tt woed gyEvR vt e

(1) 3™ 80
(2) 64
(3) 178

(4) 81

An average of group of students in achievement test is 62. Average of the 20%
students scoring highest score is 89 and that of the 25% students scoring lowest is

36. Select the option that indicates average of remaining middle percentage of

students.

(1) Approximately 80
(2) 64

(3) 178

4) 81

86. W 9%V TR, T RN WIRAT g aEied SR, e A...
(1) =
(2) W@ A
(3) ¥ 9IS
(4) W TR
I am a man. Dattu’s son is my son’s father. Dattu is...
(1) Myself
(2) My grandfather
(3) My brother
(4) My father
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87. WEl A& UH Aiefa It el IR, IoreAT ArehTen e g e
o IS IFTET FEAS ATEH SFIL ATH.
o  WIX T1FF T SHX THUHAT IR ATENE,
o DI T T ME THHHITAT AT .
o Tl o AN 1 TR IR,
o ¥} Sueirgd 21 AT TR,
Taidt Iw
(1) AR TTH (2) o= (3) el (4) <l
Six vehicles are parked in a single row as described below. Select the vehicle that is
at extreme right.
. The vehicle on the extreme right is not the dumper.
. The motor bike and the dumper are not parked next to each other.
. The minivan and the car are parked next to each other.
e  Lorry is the 15t vehicle from the left.
) Tempo is the 274 vehicle from the right.
Answer Options :
(1) Motor bike (2) Minivan (8) Car (4) Lorry
88. 4w Fyumiear wewia g vaia Fas

faum 1(S) - (x x %) = (y x y), T x T5Hi= y 3761 3.

faum 2(8,) - R (x x x x x) = (y x y x y), T x T9H gt 31 e .
(1) 8,-9F; 8, - 3\ (2) S, -3ITT; S, - FH
(3) 5,7 S, 5t Fwe (4) S, S,3d g

Select the correct option with respect to following statements.

Statement 1(S,) - If (x x x) = (y x y), then x is always equal to y.

Statement 2 (S,) - If (x x x x x) = (y x y x y), then x may be always equal to y.
(1) Sy —true; S, — false (2) 8, -false; S, - true

(3} Both 81 and S2 are false (4) Both 54 and 82 are true
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89. Him W@ feemn = 2.5 fedvarh Tem enfor 12 fafR SR OEER. s fRasft f@
4 foprfy/arsf =Temar sEe et 15 fafe e aEeeh. fo=h e sy fedt el
3R ® YEUR we s
(1) 35
(2) 3
3) 25
4 2
Nita walks from school to her house at 2-5 km/hr and arrives 12 minutes late. One
day she decided to walk at 4 km/hr and arrived 15 minutes earlier. Select the
number indicating how far her school is from house in km,
(1) 35
(2) 3
3) 25
4) 2
90. W 7 9@ ye faenefi v uH Wer g g4l Aue 30 foremefi e wESw Fagn

e Hard. A 31 Toremeli amey wdww pealamn AR UAd ST AW Featea WG A
oAy faamefl T wEem @@ e A, A6 37 WRg e e g
L HaTa. TRl e 39 Seoig 7 AT 0 FIHE WA g U AR, gl WesrEn

(1) @-geEn (g 7 = fensafen e g
(2) YesiedT e T vurn faenedien v vamw g
(3) wuEEl M F Sur=n faaneatem v vaHw HeE.
(4) 9! e fHfvad sl avefl QEf A

Every student of class 7 enjoys only one sport. Excluding exactly 30 students all
enjoy kabaddi, excluding exactly 31 students all enjoy football, excluding exactly
same number of students who don’t enjoy football all enjoy kho-kho and exactly
excluding 37 students all enjoy hockey. No student enjoys any other game that is not
mentioned here. Select the most appropriate option that indicates number of
students who enjoy hockey.

(1) Half the number who don’t enjoy kho-kho.
{2) One-fifth of number who don’t enjoy football.
(3) One-fifth of the number who don’t enjoy kabaddi.

(4) Data in insufficient for deciding the exact number.
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Grefierisht Fiore frearh i & dermar tsaren @t wh i g eng 2

(1) e (2) TS

(3) TehRReEh (4) =X

Which of the following districts has its least boundary with the State of Telangana ?

(1) Nanded (2) Yeotmal
(3) Gadchiroli (4) Chandrapur

92.

@refterdtsht svra/sprordt feury/faum st 78t /angia 2

A, q0 A0 IEHGTR e w6 H10 9 e

q. gl ST Wie 3 Iu-IwTsiiatiy wewia 9 sneesdr.

®.  IAOF I HiHV [T WS FHIUIER Sesard.

a3

(1) e faum =1 (2) wad fou= =%

(3) ed faum &% ol 9 (4) e fqum & Imfor A

Which of the following statement/s is/are not correct ?

a.  Dry thorny forests are found in Pune and Ahmednagar districts.

b.  Subtropical evergreen forests are found at Panchgani and Matheran.
c.  Anjan trees are found in Konkan on large scale.

Answer Options :

(1) Only statement a (2) Only statement ¢

(3) Only statement c and b (4) Only statement b and a

93.

FETET 2011 THO, Wieletd s el diemeea 20 drEnaT S e ?
(1) eeoft (2) RIE
(3) IIINH (4) auf

As per the Census 2011, which of the following district has a population more than
20 lac?

(1) Parbhani (2) Akola
(3) Yeotmal (4) Wardha
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94.  3rhren ferrean gférm sivrr foeem g ?

(1)  deTemn (2) SwEd

(3) aut (4) <w

Which district is located to the South of Akola district ?

(1) Buldhana (2) Amravati

(3) Wardha (4) Washim
95, Wrdiw frat = It YT I HHM .

A, TAUTE ¥, AN

®.  Hew s e

qgidt I ;

(1) 3,9,%,3 (2) #,9,3,3 3) 9,%, 3,3 4) A9, F

Arrange the following peaks in descending order as per their height.

a. Pratapgad b. Trimbakeshwar

c. Salher d. Sirsala

Answer Options :

(1) a,b,c,d (2) e¢b,a,d (3) b,c,ad (4) d,ab, ¢
96. W@l fawmt wei=arear gE¥iH Saten FAH dmE.

A, AHTEd 9. AR

%, AfrEm g HETg

oA I

1) 31,9, %, 3 (2) A, %H,49, % 3) %,9, H,3

4) 9,3, %8, &

Arrange the following places in descending order regarding rainfall.

a. Amravati b. Nagpur
c. Alibag d. Solapur
Answer Options :
(1) a,b,e,d (2) a,e, b, d (3) e, b,ad (4 b,a,d,c
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97. Writd JsT |6

Fregr
A HETR
g9, oI
%, NIl
3. W8
i I
A q
(1 IV IT1
(2) I II
(3) III v
(4) 1II I
Match the following :
District
a. Solapur
b. Latur
c. Jalna
d. Beed
Answer Options:
a b
(1 IV III
2) 1 II
(3) I v
(4) 1II I

IT
IT1
II

II
ITI
II
v

46

ATl
. e
II. W3

V. wakrE

k-

|

v

I

III

Taluka

L Georai
II. Mantha
III. Shirur Anantpal
IV. Malshiras

d

I

v

I

III
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98.  HiTEIq MM TS Tr=AT 7Y R 8.
(1) e
(2) Ed

(3) wgHd
(4) o=

Ghat is in between Kolhapur and Kudal.
(1) Ambenali '
(2) Amboli
(3) Hanumante
(40 Amba -

99. WA, dE R ¥ wowlt reerfie argd s,
(1) W3
(2) TEHd
(3) *UR
(4) b
Manvat, Selu, Purna and are the talukas in Parbhani district.
(1) Sonpeth
(2) Basmat

(3) Kandhar
(4) Umri

100. 2011 o1 ST TAM, Had 3o Ricereh andieon waedt fedt ame 2
(1) 100%
(2) 95%
(3) 90%
(4) 85%
What is urbanisation level of Mumbai suburban district as per the 2011 Census ?
(1) 100%
(2) 95%
(3) 90%
(4) B856%
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AT — (gm1awar.....)

(8) wwyferred fafge waea fafie Irfm += W (W6 94) FU9. TEgfshsafiied ITuEat a1 50
FIER = FH Hodi@ 3 Ft HOIAT R S 3R, 3 AN TR & FHER INGATR IHAH
It Feew Thmed fur=n fueRE IhEy wugEEde Afufem-82” I wgdigan A
FE A4S T QN A FAH Tk FUTAT HRETHIRAT AT /fhar 57 U g9 e Gereal dw
A BE.

(9) T FeAubRhEE s fafed Fe I HucAHT SHeawen @ SR TEaAtE T
U1 IUEH WEE . AT GHETRHTET Tvagdl IHEENE Auedr SRt Hi-1
AR TETERS T A wa F I savas .

H. . 201.

¥. . 201.

| ofHoll Uel
TiEt I T8 HEEE! FIV gEd: RIS e ?
(1) wan TG S (@ e RamErr
(3) T THEIEA Ud (4)  TTGEHS Tiget
o YA A I (3) T THEE U S AR, Wg: 41 T I (@) aken
I AT T . 201 ¥HE IEAE (@) 7 age qUia S HE
ZrEfm anavEs AR,

®©® @ @& @

9N gAY WA FYfGaehdiel Woieh AT gEel IOU-RATR B qRETen Tauaien guasie
ITAGFHANA N o IFHAHEANE qeiaq qde U0 Bifhd HE4 grgamEr. gehid
TR AT WIS Ferus aedE, 9fe a1 v o angE A,
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THE IS . WERTS, GEH Wal SR -8 (F) aen-2018 wteran e : 20 steRisr, 2018
T F T8I UETehdiar e T (Y0¥ . 2)
fowg: . WM AHEAT AU T USTAT SIS ATEvas [

MERIS, TN STANTHGT * HERTS TAH WAl SRIUEH TE-8 (Fd) Wien-2018 — Tod &R FRIe® STl et
QU 1 W e RInEhEl FeH TRl ool SHEARIeAT HIedais! Hehdeesier T shivard SATell aidl. ~arEeHid
SHSARIT AT (Authentic) TIETHIT / TS S3 UISTAeieA! i@l THog, T8 dosie AW foemid 3 TETH
BRATeTeRT QTN Shett 37T, AT STRATThdlet TR AT FHTUAT Jefiet. AT ST g foreRTe Seell SR A 9
TSI HIVTTET TIeTERR el STV AT, dTelt e s Sl

SRttt - KEY
E2IED qTa A 99 B qaC qaD EXIED qd A 99 B qaC 9D
1 4 2 3 4 26 2 2 4 1
2 2 4 2 4 27 2 4 3 4
3 1 2 1 3 28 # 4 2 4
4 3 2 2 3 29 3 3 1 2
5 1 4 4 4 30 4 3 2 4
6 2 2 2 4 31 3 4 3 4
7 3 1 2 3 32 3 4 4 2
8 4 3 # 2 33 2 3 2 4
9 # 1 3 1 34 3 3 3 1
10 3 2 4 2 35 4 4 2 4
11 2 3 3 3 36 2 4 3 4
12 4 2 3 4 37 4 3 1 1
13 2 1 2 2 38 4 2 2 1
14 2 2 3 3 39 3 1 # 2
15 4 4 4 2 40 3 2 4 3
16 2 2 2 3 41 4 3 4 3
17 1 2 4 1 42 4 4 1 3
18 3 # 4 2 43 3 2 3 4
19 1 3 3 # 44 3 3 4 2
20 2 4 3 4 45 4 2 4 2
21 3 3 4 4 46 4 3 1 4
22 2 3 4 1 47 3 1 4 1
23 1 2 3 3 48 2 2 4 3
24 2 3 3 4 49 1 # 2 2
25 4 4 4 4 50 2 4 4 3
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